evone 6 enavirnin 8 RS\ B

Ka0e naxkéro nepiéyel 9 pmokéra. YnoAdyoe 6nweg oo mapadetypa kat oupning-
pwoe toug apiBpoug rou Aslrtouv:

* 1 MAKETO MEPIEXEL 1 x 9 = 9 pmokéta
* 3 MOKETQ MEPIEXOUV ... X 9 = e Hmoxéta
* 5 nak€ra MEPIEXOUV ... X 9 = pHmoxkéTa
* 7 MOKETQ MEPEXOUY ... X: 9 =i pmoxéta
» 8 makéra nepiEYouV ... X 9 = poxéta
* 9 nokfra nepiEyouy ... X 9 = pmoxota

LupmAnpwoe toug aplBpoig mov Aslmouy, 6nwe oto napabewypa:
Ny

8 | x[5] - [40 40| : [8] =[5
6| x[7] - 6 -
3| x[6]- 3| -
5| x[3] - 5] -
9 [ x[3] - 9] -
8 | x[6] - 8 | -

KaBe avrokivntdkt kootilet 6 €. O Nérpog €xet 54 €. Néoa auvtokiviraxia prnopel
va ayopaoel pe autd ta yprjpata;

Avon:

ATLOVTNON ettt s e s H

H Avva €xeL 6 TplavtaduAALEC KoL N KaBepLA €kave amo 8
Tplavtadulia. Nooa tplavtadula ekavav OAeg pali;

Auon:

JA 100 AV A 0 Lo ][RR



